VYAVILLARTEC Mopens arperarta: CB 532P (MoTokoca 52,8 cM® 1,9 kBt/2,58 n.c.)

(8:2)(8.1)

¥




VILLARTEC

Mopenb arperaTta: CB 532P (MoTtokoca 52,8 cm3 1,9 kB1/2,58 n.c.)

CHHCOK 3alacHBIX YacTen

Ne ITos. ApTHKYI Aprimy . HanmeHnoBanmue Koa-Bo
aeTalm AeTaJIl HOBbIN

1 320300006  |80700026-15 |Bunar M5x20 4
2 320300012 |180700048-09 |Buar M5x30 1
3 320300043 80700026-06 |Bunr M5x14 1
4 230201649  |80300470-04 |3ammra TommBHOro 6aka CB532P 1
5 340700165 80300450-01 |ITaTpy6ok Biryckuoii CB532P 1
6 230201646  [80300454-04 |BsiTsxHOE okHO CB532P 1
7 341100048 bakenuroBblii KOBpUK M5 2
8 210100488  |80100488-03 |Kopnyc cuemienus B coope CB532P 1
8,1 [80200025-02 [80200025-02 |[Yamxka cuerenuss BC532P 1
8,2 320500049 |80700126-07 [Cronoproe kombro CB532P 1
83 1320900102  [80700205-07 |ITomummuk 6202-Z7C3 2
84 [320500048 |80700216-02 [Cronophoe KoibLO 1
85 330700515 80200523-02 |Kopmyc cuemenuss CB532P 1
g 310100086  |180100029-01 |[ITpaitmep CB532P 1
10 230201641 80300468-04 |I'me3no nusa nparimepa CB532P 1
11 1230201642  [80300469-02 |Kpsiuka Bozayxooga CB532P 1
12 [320300043 80700026-06 |Bunr M5x14 2
13 1310800011 80100059-05 |Mydra crermenus CB532P 2
14 320200004 |80700068-08 |Camopes ST3.5x12-H-C 2
15 1340700002  [80800013-01 |IIlmanr Tomwmsaelii CB532P 1
16 |80301172-02 [80301172-06 |IloBopoTHBIN pbruar Bo3a/3acaonku CB532P 1
17 1320400050  |80700052-06 |I'aiika M8 1
18 1320500025  |80700103-01 [Ilaiiba mpyx. 8 1
19 320500019 |80700137-01 [IIlaii6a 8 1
20 |80101730-01 [80101730-01 |MaxoBux CB532P 1
21 [320300007  |80700026-18 [Bumr M5x25 6
22 180101066-01 [80101066-01 |Monyns 3axuranus CB532P 1
23 |80300050-02 |80300050-02 [Bepxuss kpbika CB532P 1
24 1321000026  [80700179-01 |Campauk TC15x30x7 1
25 [320900084  |80700205-04 |ITogmmmauk 6202 2
26 1320300014  |80700026-25 |Bunr M5x35 4
27 1320700013 80700185-01 |IlITudr xaprepa 4x10 2
28 1330700542  [80200528-01 |Kaprep 1/2 nepen. CB532P 1
29 1310200041 80100503-01 |Konenuatsriii Ban CB532P 1
30 |320800003 80700084-05 |IlInonka x/Bana 3x13x5 CB532P 1
31 [321000025  |80700175-02 |Canpnukx TC12x22x7 1
32 1341000066  [80400054-01 |Ymioruenue kaprepa BC532P 1
33 1320700014  [80700186-01 |IlItudr kaprepa 5x10 CB532P 2




v,LLARTEc Mopenb arperara: CB 532P (MoTtokoca 52,8 cm3 1,9 kBT1/2,58 n.c.)

34 |330700543 80200529-01 |Kaprep 1/2 3agn. CB532P 1
35 1310600019 80100055-01 |XpanoBuk cTaprepa ¢ cooaukamu CB532P 1
36  |310500175 80100051-10 |Craprep B cobope CB532P 1
37 320300006 |80700026-11 |Bunar M5x20 4
38 [341100090 |80400167-01 |Ymnornenue roymmrenss CB532P 1
39 [310300134  |80100477-08 |I'nymmrens CB532P 1
40 1320300043 80700026-06 |Bunar M5x14 1
41 320300060  [80700026-38 |Bunt M5x25 1
42 1320500017  [80700146-01 |I1laiiba 6 2
43 1320200168  [80700046-15 [Buar M6x60 2
44 1330900414 80200533-01 |ITopmmesoii nanen CB532P 1
45 1320900091 80700113-03 |Urompuatsiii noammmHuk CB532P 1
46 1331000252 80200581-01 |Cronopnoe xonb1o nopuns CB532P 2
47 1330700475 80200482-01 |ITopmens CB532P 1
48 330700385 80200483-01 |Kommnpeccunonnoe koo CB532P 2
49 1341000100  [80400171-01 |Ymnorwenue mmmnapa CB532P 2
50 (330700474  180200215-01 |[uwmsap CB532P 1
51 [320200012  |80700075-16 |Camope3 ST4.2x16-H-F 2
52 |311500001 80100068-05 |Cpeua 3axuranus 1
53 (331000453 80200202-01 |IInactrsa mwmHapa CB532P 1
54 320300001 80700011-05 |Bunr M4x10 2
55 [320300004  |80700026-09 |Bunr M5x16 2
56 |80100478-17 [80100478-21 |Kpeiuka neuraress B coope CB532P 1
56,1 [80300185-15 [80300185-20 |Kpeimka neuratens CB532P 1
56,2 (230201644 80300452-04 |BcraBka kpsiiku gsuratesns CB532P 1
56,3 80300453-03 |80300453-09 |[Jlororun CB532P 1
57 320300059  |80700026-15 |Bunt M5x20 1
58 (320200337  |80700032-01 |Bunr M5x44 4
59 1341000078  [80400164-01 |Ymnoruenue BryckHoro marpyoka CB452/532 1
60 331000468 80200451-01 |ITmockwuii dpmanery CB532P 1
61 (320400102  |80700015-09 |I"aiika M5 -+
62 320400023 80700015-06 |T"aiika M5 4
63 (341000099  |80400172-01 |YmnorHenue kapOropatopa CB532P 1
64 1311400174  [80102599-02 |KapOGropaTop CB532P 1
65 |80200778-05 [80200778-05 |Kopmyc Bo3a/dmwisTpa CB532P 1
66 1320500014  [80700143-01 |Illaii6a 5,5x15x1 1
67 |80301867-01 [80301867-01 |Kponmrreiin Bo3a/dumstpa CB532P 1
68 (320300034 |80700014-06 |Bunr M4x18 3
69 1320500012  [80700135-04 |Illait6a 5 2
70 320200161 80700023-22 |Bunar M5x55 2
71 1340800277  [80400267-01 |Bo3mymmsrit puwietp CB532P 1
72 1230201740  [80301171-04 |Kpsimka BozaymHoro ¢mwibtpa CB532 1
73 (320200049  |80700026-34 |Bunt M5x25 2
74 (210500046  |80100479-02 |TormmBHeI 6ak B cOope CB532P 1




\\ VILLAR TEQC Moaens arperata: CB 532P (Motokoca 52,8 cm? 1,9 kB1/2,58 n.c.)

74,1 180301977-01 [80301977-01 |TommmBHeli 6ax CB532P 1
74,2 1310100639  |80100031-01 |TormBHeM GuisTp CB532P 1
74,3 1331100187  |80700111-01 |®Puxcarop 5x0,8 CB532P 1
744 1310100798  |80100042-03 | TorumBHelii nutanr CB532P 1
74,5 1210100493 80100004-02 |Kppimka TommsHoro 6aka CB532P 1




9 kBT1/2,58 n.c.)

14

1

VYA VILLARTEC Mopens arperata: CB 532P (MoTtokoca 52,8 cM3




VILLARTEC

Mopenb arperaTta: CB 532P (MoTtokoca 52,8 cm3 1,9 kB1/2,58 n.c.)

CHHucoK 3amacHbBIX YacTen

Ne ITo3. ApTHKya Apriicy . HaumeHoBanmue KoJ-Bo
aeTaim JAeTaJIl HOBbIN

1 210600794  [80100481-01 |IItanra B cbope D30x2x1495 CB532P 1
1,1 1220400146  [80200291-02 |[Iranra ¥30x2x1495 CB532P 1
1,2 331200036 80200103-01 [KomIuiekT - Maciio yaepsKuBarommmx noamiaukos CB532P 6
1,3 (340800196 80400166-01 [KommekT - KpblIiKa Macio yaepKUBaroIuX noAmmmHukos CB532P 6

2 80200546-33 80200546-33 [Benyumii Ban 8x1550 sxect. CB532P 1

3 312200065 80100723-02 |/IByx meueBoii pemenb CB532P 1

4 80100482-03 |80100482-05 [AnTuBHOparmonHbii kopiyc B coope CB532P 1
4,1 1230201650 80300458-09 |Pyuka - 6apamex CB532P 1
42 1320700027  |80200796-01 [[tudr kaprepa 5x50 CB532P 1
43 1230201651 80300459-09 |bapamkosas raiika CB5232P 1
44 1330700517  |80200524-02 |Kpenex pykositku Bepx CB532P 1
4,5 1330700518 80200525-02 |Kpenex pykositku vz CB532P 1
4,6 1320200069  |80700026-01 [Buar M6x12 2
4,7 1331100215 80200274-01 |IIpy>xuna noBoporHOM pyuku CB532P 1
4,8 1320200018  |80700079-01 [Camope3 ST4.8x16-H-F 4
49 1230201652  |80300471-04 [Omopa CB532P 1
4,10 (230201278  |80300437-01 |bydep pe3unosbiii nepeanmii CB532P 2
4,11 1331000320 80200610-02 |Ckoba kperuienus mranru CB532P 1
4,12 1331100148 80200187-01 |IIpy>xxuna amopruzaTtopa CB532P 2
4,13 (320200037  |80700023-29 |Bunr M5x12 1
4,14 1230201277  [80300436-01 |bydep pesuHoBbIi 3201 CB532P 2
4,15 [80300456-05 |[80300456-07 |AnruBuOpaiwmonHsiii koprmyc CB532P 1
4,16 1230201733 80300457-01 |Ilnactuna Tpoca raza CB532P 1
4,17 1320200275 80700067-01 |Camope3 ST2.9x9.5-H-F 4
4,18 1230201654 80300472-06 |Kpsiiika Tpoca apoccenbHoi 3aciaonku CB532P 1
4,19 1330900662 80200560-01 |Hemonsmwkuas miactuda CB532P 1
420 (320300050 |80700026-01 |Bunr M5x12 1
421 1340800216 80400165-01 |Amopruzatop pe3uHoBbiii CB532 2

5 320300068  |80700048-07 |Bunr M5x30 2

6 320300050  |80700026-01 |Bunr M5x12 1

7 320300067  |80700048-05 [Bunar M6X25 1

8 210100525 80100493-01 |Penykrop B coope CB532P 1
8,1 1310700084  [80100493-02 |Kopmyc pexykropa CB532P 1
82 1330900678  [80200045-01 |Haxumuoii quck CB532P 1
83 1330900679  [80200046-01 |Haxumuas maitoa CB532P 1
84 1330900680  [80200047-01 |Bpamatonmiicst guck CB532P 1
85 1320400032  [80700004-04 |Bunar M10x1,25 1

9 210300257  [80100487-05 |Pykositka ynpasnenusi B coope CB532P 1




v,LLARTEc Mopgenb arperarta: CB 532P (MoTtokoca 52,8 cm3 1,9 kB1/2,58 n.c.)

9,1 (330900663 80200044-01 |TpyOuaras pykosarka CB532P 1
9,2 1230201655 80300003-07 |Kopmyc pykosiTku yrnpasienus Jieass CB532P 1
93 (230201657 80300005-07 |Kopryc pykosaTku ynpasieHus npaBasi CB532P 1
94 (331100216  |80200122-01 |IIpyxuHa cTomopHoro peiuara CB532P 1
9,5 (331100217 80200121-01 |ITpyxwuHa kypka raza CB532P 1
9,6 [312100035 |80600120-01 |BeikmouaTens CB532P 1
9,7 (331100218 80200123-01 |ITpyxwuHa kypka raza CB532P 1
9,8 (320200171 80700074-02 |Camopes ST3x9 1
9,9 (320200004  |80700068-08 |Camopes ST3.5x12-H-C -+
9,10 |320300026 [80700026-26 |Bunr M5x40 1
9,11 {320400006 [80700015-06 |I["aiika M5 1
9,12 1230201659  |80300007-09 |Kypok raza CB532P 1
9,13 230201660  [80300008-09 |CromnopHusriii peraar CB532P 1
9,14 1230201661 80300009-06 |IlepexmouaTens crapr/cron CB532P 1
9,15 (310100839  |80100495-01 |Tpocuk raza nymuxnb CB532P 1
9,16 [340700037  |80800014-02 |T'odpa xkaGemst CB532P 1
9,17 1310100836  [80100484-01 |IIpoBon BeikmrouaTenss CB532P 1
9,18 230201662  |80300010-08 |Kopmyc pykositku geBast CB532P 1
9,19 1230201664 |80300012-07 |Kopmyc pykositku npaBasi CB532P 1
9,20 1320200005  [80700068-09 |Camopes ST3.5x16-H-F 1
9,21 1320400006 |80700015-06 |I"aiika M5 1
9,22 1320300026  [80700026-26 |Bunt M5x40 1
9,23 1230201666 80300473-06 |Kpsiiika Tpoca apoccenbHoM 3aciaoHku npaBas CB532P 1
9,24 1230201667 |80300473-05 |Kpsimka Tpoca apoccenbHoi 3acioHku jieBast CB532P 1
9,25 1320200004  [80700068-08 |Camope3 ST3.5x12-H-C 2
9,26 1320200169  |80700075-16 |Camope3 ST4.2x16-H-F 1
10 180100002-07 [80100002-11 |3ammrHbiii koxyX B cOope CB532P 1
10,1 230300334  [80300054-05 |3ammurHerii koxxyx CB532P 1
10,2 1320200009  [80700075-01 |Camopes ST4.2x10-H-F 1
10,3 |80300055-04 |80300055-08 |bopoma CB532P 1
104 1320200012  [80700075-16 |Camopes ST4.2x16-H-F 1
10,5 320200189  |80700079-03 |Camope3 ST4.8x20-H-F 2
10,6 {331000454  |80200058-01 |Hox koxxyxa CB532P 1
10,7 |331000455  180200059-01 |3akumHas riacTuHa Koxkyxa Hu3 CB532P 1
11 1331000254  [80200487-05 |Hox 3-x JiormacTHOM 1
12 340500165 80300067-01 |Yexon gy 3-x nonactHoro Hoxxa CB532P 1
13 1310100543 80100273-01 |KocuinbHast rogoBka 1
14 (310100837  |80100485-01 |IIpoBox Bhikmtouatesnss CB532P 1
15 1310100840 80100496-01 |Tpocuk raza koporkuii CB532P 1
16 1340700223  [80800014-02 |T"odpa xadenst CB532P 1




